



ISSN 2347-1921

Minimal Central Series of a Nilpotent Product of Abelian Lie Algebras

Zerrin Esmerligil

Department of Mathematics, Cukurova University, Turkey
ezerrin@cu.edu.tr

ABSTRACT

We determine the structure of the lower central terms and the structure of the minimal central terms of the nilpotent product of free abelian Lie algebras of finite rank.

Keywords. Free abelian Lie algebra; Lower central series; Nilpotent product.

2010 Mathematics Subject Classification: 17B01, 17B42



Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN MATHEMATICS

Vol.10, No.6

www.cirjam.com , editorjam@gmail.com



1 INTRODUCTION

Let F be a free Lie algebra of finite rank over a field K of characteristic zero. By $\gamma_n(F)$ we denote the n -th term of the lower central series of F .

The minimal central series of F determined by a subalgebra A is the decreasing series of ideals whose terms are given by the recursive formulas [1]:

$$o(A) = \langle A \rangle, \quad {}_l A = [F, {}_{l-1} A] \text{ for } l > 0, \text{ where } \langle A \rangle \text{ is ideal of } F \text{ generated by the subalgebra } A.$$

The lower central series of F is a well known example of a minimal central series of F .

The lower central series of a free Lie algebra has been studied by T.C. Hurley [3,4] and the minimal central series has been defined for groups by Baer [1]. The terms of these series serve as a tool for the construction of new classes of Lie algebras.

Is it possible to define and classify all operations on a set of Lie algebras which share some properties with the free product and yet different from this operation? Investigation of the possibility of defining new constructions similar to those of the free product which would be a supplementary means in the study of various classes of Lie algebras.

Solvable and nilpotent operations were studied by Levi [6], Golovin [2] and Struik [7] for groups.

In this work we determine the structure of the terms of the lower central series and minimal central series of nilpotent product of free abelian Lie algebras.

All Lie algebras considered in this work will be over a field K of characteristic zero.

A Hall set of a free Lie algebra containing the elements of weight k is denoted by H_k .

2 Lower Central Series

We need the following theorems.

Theorem 1 [8] Let F be the free Lie algebra freely generated by the set $\{x_1, \dots, x_n\}$ and let H be a Hall basis for F . If f is any element in F then

$$f = \sum_{i=1}^l \alpha_i h_i \pmod{\gamma_{n+1}(F)},$$

where $\alpha_1, \dots, \alpha_l \in K$ and h_1, \dots, h_l are elements of $H_1 \cup \dots \cup H_n$.

For $i = 1, \dots, m$ let A_i be the free abelian Lie algebra generated by the set $\{a_{i_1}, \dots, a_{i_{r_i}}\}$ and let

$A = A_1 * \dots * A_m$ be the free product of A_1, \dots, A_m . By D we denote the cartesian subalgebra of A .

Definition 2 The k -th nilpotent product of the free abelian Lie algebras A_1, \dots, A_m is defined to be the Lie algebra

$$L = {}_k^* A_i = A \square \gamma_{k+1}(A),$$

where $k \geq 1$.

Theorem 3 Suppose that u_1, \dots, u_t are basic commutators of weight less than $k+1$, on the letters $a_{i_1}, \dots, a_{i_{r_i}}$, where $i = 1, \dots, m, r_i \geq 1$. Then every element u of L can be uniquely expressed as

$$u = \sum \alpha_i u_i,$$

where $\alpha_i \in K, i = 1, \dots, t$



Proof. Let $A = A_1 * \dots * A_m$ be the free product of A_1, \dots, A_m . Then $L = A/\gamma_{k+1}(A)$. Clearly every element u of L can be written as

$$u = \sum_{\substack{1 \leq i \leq m \\ 1 \leq j \leq r_i}} \beta_{ij} a_{ij} + w,$$

where $\beta_{ij} \in K, w \in D$.

By lemma 1 of [5] the set of basic commutators of weight ≥ 2 on the set $\{a_{ij} \mid 1 \leq i \leq m, 1 \leq j \leq r_i, r_i \geq 2\}$ is the set of free generators of D .

Thus the element w can be expressed as

$$w = \sum_{l=1}^s \gamma_l w_l,$$

where w_1, \dots, w_s are basic elements constructed on free generators of D . Therefore the element

$$u = \sum \beta_{ij} a_{ij} + \sum \gamma_l w_l$$

is an expression of basic commutators of weight $1, 2, \dots, k$. This completes the proof.

Theorem 4 Let $L = \overset{*}{\underset{k}{L}} A_i$ be the k -th nilpotent product of the free abelian Lie algebras A_1, \dots, A_m . Then

- i) if $n \geq k$ then $\gamma_{n+1}(L) = \{0\}$,
- ii) if $n < k$ then $\gamma_{n+1}(L) = \gamma_{n+1}(A) \square \gamma_{k+1}(A)$,

and every element u of $\gamma_{n+1}(L)$ can be expressed as $u = \sum \alpha_i u_i$, where $\alpha_i \in K, u_1, \dots, u_t$ are basic elements of weight $n+1, n+2, \dots, k$ on the letters $a_{ij}, 1 \leq i \leq m, 1 \leq j \leq r_i, r_i \geq 2$.

Proof. i) If $L = \overset{*}{\underset{k}{L}} A_i$ then $L = A \square \gamma_{k+1}(A)$, where $A = A_1 * \dots * A_m$. Hence $\gamma_{k+1}(L) = \{0\}$. Therefore $\gamma_{n+1}(L) = \{0\}$ for $n \geq k$.

ii) If $L = \overset{*}{\underset{k}{L}} A_i$ then

$$\begin{aligned} \gamma_{n+1}(L) &= \gamma_{n+1}(A \square \gamma_{k+1}(A)) \\ &= (\gamma_{n+1}(A) + \gamma_{k+1}(A)) \square \gamma_{k+1}(A) \\ &\cong \gamma_{n+1}(A) \square \gamma_{n+1}(A) \cap \gamma_{k+1}(A) \\ &= \gamma_{n+1}(A) \square \gamma_{k+1}(A), \end{aligned}$$

where $n < k$ and $A = A_1 * \dots * A_m$ be the free product of A_1, \dots, A_m .

Let $A_i = \langle a_{i_1}, \dots, a_{i_{r_i}} \rangle, i = 1, \dots, m$. Also let F be the free Lie algebra generated by the set $X = \{x_{ij} \mid 1 \leq i \leq m, 1 \leq j \leq r_i\}$ and Y be the set of basic elements of the form $[x_{ij_1}, x_{ij_2}]$ where $x_{ij_1} > x_{ij_2}, 1 \leq i \leq m, 1 \leq j \leq r_i$. Then Theorem 1 implies that

$$L = F \langle Y \rangle_{id} + \gamma_{k+1}(F).$$



So

$$\begin{aligned}
 \gamma_{n+1}(L) &= \gamma_{n+1}(F\langle Y \rangle + \gamma_{k+1}(F)) \\
 &= (\gamma_{n+1}(F) + \langle Y \rangle + \gamma_{k+1}(F))\langle Y \rangle + \gamma_{k+1}(F) \\
 &\cong \gamma_{n+1}(F) \square \gamma_{n+1}(F) \cap (\langle Y \rangle + \gamma_{k+1}(F)) \\
 &\cong (\gamma_{n+1}(F) \square \gamma_{k+1}(F)) (\gamma_{n+1}(F) \cap (\langle Y \rangle + \gamma_{k+1}(F)) \square \gamma_{k+1}(F)) \\
 &\cong (\gamma_{n+1}(F) \square \gamma_{k+1}(F)) (\gamma_{n+1}(F) \cap \langle Y \rangle) + \gamma_{k+1}(F) \square \gamma_{k+1}(F)
 \end{aligned}$$

By Theorem 1, $\gamma_{n+1}(F) \square \gamma_{k+1}(F)$ is a free nilpotent Lie algebra with basis $H_{n+1} \cup \dots \cup H_k$, where H_1, \dots, H_k are Hall sets constructed on the set X .

$$\text{Set } M = (\gamma_{n+1}(F) \cap \langle Y \rangle + \gamma_{k+1}(F)) \square \gamma_{k+1}(F).$$

Clearly every element g of $(\gamma_{n+1}(F) \square \gamma_{k+1}(F)) \square M$ can be expressed as

$$g = \sum c_i h_i + M,$$

where $c_i \in K$, $h_i \in_{s=n+1}^k H_s$. Consider the isomorphism

$$\phi : (\gamma_{n+1}(F) \square \gamma_{k+1}(F)) \square M \rightarrow \gamma_{n+1}(L)$$

defined as $\phi(h_i) = 0$, if h_i contains the words $[x_{ij_1}, x_{ij_2}]$ as subwords, where $1 \leq i \leq m, 1 \leq j_1, j_2 \leq r_i, h_i \in_{s=n+1}^k H_s$.

$\phi(h_i) = h_i(a_{ij})$, if h_i does not contains the words $[x_{ij_1}, x_{ij_2}]$ as subwords, where $h_i(a_{ij})$ is a basic word on the letters $a_{ij}, 1 \leq i \leq m, 1 \leq j_1, j_2 \leq r_i, h_i \in_{s=n+1}^k H_s$.

Then the image of any element $g = \sum c_i h_i + M$ of $(\gamma_{n+1}(F) \square \gamma_{k+1}(F)) \square M$ is $\phi(g) = \sum c_i h_i(a_{ij})$.

Therefore any element of $\gamma_{n+1}(L)$ can be expressed uniquely as a linear combination of basic elements of weight $n+1, \dots, k$ on the letters $a_{ij}, 1 \leq i \leq m, 1 \leq j \leq r_i$.

3 Minimal Central Series

Let A_1, \dots, A_m be free abelian Lie algebras of finite rank, and let $A = A_1 * \dots * A_m$ be the free product of A_1, \dots, A_m .

The terms of the minimal central series of the free product $A = A_1 * \dots * A_m$ defined by the commutator subalgebra $A_i^m = ((A_1 A_2), \dots, A_m)$ of A are called free commutator subalgebras of A , namely, the k -th term A_i^m is called the k -th free commutator subalgebra.

The 0-th commutator subalgebra of A is the commutator subalgebra A_i^m of A .

Definition 5 The k -th nilpotent product of the free abelian Lie algebras A_1, \dots, A_m is defined as

$$N = A_1 *^k \dots *^k A_m = A_k(A_i^m)$$



where $k \geq 0$, $A = A_1 * \dots * A_m$.

The commutator subalgebra $((A_1 A_2), \dots, A_m)$ in N is called the k -th nilpotent commutator subalgebra. We shall denote it by $(A_i^m)_N$.

Note that the 0-th nilpotent product of A_1, \dots, A_m is the direct sum $A_1 \oplus \dots \oplus A_m$.

By ${}_n(A_i^m)_N$ we denote the n -th term of the minimal central series of $(A_i^m)_N$. We have for an arbitrary $n \leq k$

$${}_n(A_i^m)_N = {}_n(A_i^m)_k(A_i^m)$$

Therefore

$$0(A_i^m)_N = (A_i^m)_N \supseteq_1 (A_i^m)_N \supseteq \dots \supseteq_k (A_i^m)_N = \{0\}$$

Theorem 6 The factor algebra $N_n(A_i^m)_N$ is isomorphic to the n -th nilpotent product $A_1 *^n \dots *^n A_m$. Namely,

$$N_n(A_i^m)_N \cong A_1 *^n \dots *^n A_m$$

Proof. The proof is a direct consequence of the second isomorphism theorem:

$$\begin{aligned} N_n(A_i^m)_N &= A_k(A_i^m)_n(A_i^m)_k(A_i^m) \\ &\cong A_n(A_i^m) \\ &= A_1 *^n \dots *^n A_m \end{aligned}$$

References

1. Baer, R. 1985. Representations of groups as quotient groups. II. Minimal central chains of a group, Trans. Amer. Math. Soc. 58, 348-389.
2. Golovin, O.N. 1956. Nilpotent product groups, Amer. Math. Soc. Transl., Ser. 2, 2, 89-115.
3. Hurley, T.C. 1979. Intersections of terms of polycentral series of free groups and free Lie algebras, Pacific J. Math., 82, 105-116.
4. Hurley, T.C. 1981. Intersections of terms of polycentral series of free groups and free Lie algebras II, Pacific J. Math., 96, No.1, 111-114.
5. Kukin, G.P. 1970. On the cartesian subalgebra of a free Lie sum of Lie algebras, Algebra Logika, 9, No.6, 701-713.
6. Levi, F.W. 1944. Notes on group theory, IV-VI, J. Indian Math. Soc. (N.S) 8, 78-91.
7. Struik, R.R. 1960. On nilpotent product of cyclic groups, Canadian J. Mat., 12, 447-462.
8. Ward, M. 1964. Basic commutators, Philos. Trans. Roy. Soc. London, Ser A, 264, 343-412.